Boot Camp 3
Triangles
Take Home and Check
Tier A
1) Write yes or no next to each set of
measurements. Write Yes if they can
malke a triangle and No if they cannot.
A) 18m, 7m, 4m
B) 11m,11m, 2Z2m
C) 5m,9m, 8m

D} 28m, 8m, 10m

)

A)F+4 <18 NO
B) I+ =22 No

Q) 54627  yes
d) o+¢ L a8 No

g f\N122°

and o-ngle g2
2} What is the measure of angle f? Show
how you get your answetr.

Y

2)
Angle f = ,
|go-j22 = 58
(fand 122 are Soupplemcnf-ary)
50+5& = |oF
|§0= |08 = / 72.° {

3) What is the measure of angle n? Show
how you get your answer?

82°

34° n

3) $24 34=1lb r

50116 =[64°]




~ 4) Use two Jetters to name the longest and -

4)

shortest sides. ‘ (
| Longest side = -
Pr (because it Is
" T aeross Srom the
largest <)
 Shortest side =
Pa (because it i3
Longest side = across Ffom the
Ssmallest )
Shortest side =
5) Use two letters to name the longest and 5)
shortest sides.
Longest side =
RT a
1 shortest side =
| ST
Longest side =
Shortest side =
(




{ 6) Classify the triangle by its sides and angles.

4

Im

3m

T

7) Classify the triangle by its sides and angles.

L)
Equilateral

A Cute

%) Tsosceles
Acute

8) Classify the triangle by its sides and angles.

7 mm 5 mim

-8 mm

Ay
[N

( .i; ,.,J
L N '

¢) Scalene
Acute

*19) Determine if the given information will
. .make a unique triangle. Explain why or
why not.’ft -, .
rqie @) Side lengths 3 and 5 and an included angle
’ of 67 degrees.

i
B

oy e

s PRI
b) Angles 73° 787100%

¢} Angles 80° and 25° and an included side of
12.

I

q)

@) Unigue Wfﬁ’“se e 2
de | s with an
Si:\.cluferd\s /. determine

the 3% side.

bcc@ase Sinilar
2 x?: wuee diff sizes

e, u_ c MMS@ +he 2
) " uz.‘s ond. mcLudﬁé
35.4@. dekermine he

o’dner gide 3




10} Construct a triangle in which

S e
AB=72,AC=72and BC=9cm

Is this a unique triangle?

What Kind of A is
this ?

11) Construct a triangle whose sides are twice
as long as the triangle below.




12) Find the perimeter and area of the

a)

+  following triangles:

15yd

m

12)

&) P=9496+9+%4=
bh _ (,:;.4 (8.5) 462.9.
A/:vf;" .._2_._. - a -

A

(3145 m™

b) P= i3+20+15 34394

A. bh _(15)(12)_ 150
2 o T *
.P___——-—"'{?’
Qqu




—_—




